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  LDD7787 
  II, 2016-17 

SUMMATIVE ASSESSMENT – II, 2016-17 
 / MATHEMATICS    

X / Class – X  
:3 hours  90 

Time Allowed: 3 hours                                           Maximum  Marks: 90 
 

  
 

1.   

2. 31 4 

1 6 2 10 

3 11 4 
 

3. 

4. 

      General Instructions: 
 

1. All questions are compulsory. 
2. The question paper consists of 31 questions divided into four sections A, B, C and 

D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and 
Section-D comprises of 11 questions of 4 marks each. 

3. There is no overall choice in this question paper. 
4. Use of calculator is not permitted. 

 

 

  / SECTION-A 

1  4 1 

Question numbers 1 to 4 carry one mark each 

 

 1 x2
7x180  

Find the numerical difference of the roots of the equation x2
7x180. 

1 

 2 AB=5 3 cm, DC=4cm BD=3 cm 

  

In figure AB=5 3 cm, DC=4 cm and BD=3 cm. Find . 

1 
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 3 

 

A die is thrown once.  Find the probability of getting a number which has at least 2 factors. 

1 

 4 3
3,  

4

 
 
 

(k, O) 
3

7,  
2

 
 
 

k  

If 
3

3,  
4

 
 
 

  is the mid-point of the line segment joining the points (k, O) and
3

7,  
2

 
 
 

. Find value 

of k. 

1 

  / SECTION-B 

5  10 2   

Question numbers 5 to 10 carry two marks each. 

 

 5 AP : 21, 18, 15,…. 

Which term of AP : 21, 18, 15,…. is zero ? 

2 

 6 k 4x2
kx60  

Find the values of k, for which the given quadratic equation has equal roots :4x2
kx60 

2 

 7 O TP  TQ POQ110 PTQ  

If TP and TQ are two tangents to a circle with centre O so that POQ110.  Find PTQ. 

2 

 8 8.8 cm  PQ PQ 

3 : 1   

Draw a line segment PQ of length 8.8 cm.  Find a point on PQ which divides it internally in the ratio 3 : 
1.  Find the measures of the two parts. 

2 

 9 5 cm 

24 cm  

Two concentric circles are such that a chord of the larger circle touches the smaller circle of radius 5 
cm.  If the chord is of length 24 cm, find the radius of the longer circle. 

2 

 10 
90 cm 

22

7

If the perimeter of a protractor is 90 cm find the radius of the protractor
22

Use 
7

 
 
 

. 

2 

  / SECTION-C 

11  20 3   

Question numbers 11 to 20 carry three marks each. 

 

 11 AP : 9, 17, 25, ….  636  

How many terms of the AP : 9, 17, 25, …. must be taken to get a sum of  
636 ? 

3 

 12 
x  

2 1
1

( 1) ( 1)x x
 

Solve for x, 
2 1

1
( 1) ( 1)x x

 

3 
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 13 5 cm P 

 

Construct a pair of tangents to a circle of radius 5 cm from a point P which is twice as far away from 
the centre as its radius. 

3 

 14 60 

30 90  

The horizontal distance between two towers is 60 metres.  The angle of depression of the top of the 
first tower when seen from the top of the second tower is 30.  If the height of the second tower is 90 
metres, find the height of the first tower. 

3 

 15  3 

 

A bag contains 3 red and some blue balls.  If the probability of drawing a blue ball is four 
times that of drawing a red ball.  Find number of blue balls in the bag. 

3 

 16 P(3, 4) A(k, 2) B(6, k) k  

Find the value of k, if the point P(3, 4) is equidistant from the points A(k, 2) and B(6, k). 

3 

 17 (4, 5)  (1, 2) x-   

In what ratio is the line segment joining the points (4, 5) and (1, 2) divided by the x-axis? 

3 

 18 50 m 44 m 14 cm 

15 km/h 

21 cm  

A swimming pool in a school is cuboidal which is 50 m long and 44 m wide.  It is connected 
with a pipe of diameter 14 cm from where water is flowing into the pool at the rate of 15 
km/h.  In what time will the level of water in pool rise by 21 cm ? 

3 

 19 14 cm 10 

5 10 35 

22
 

7
  

A wall clock is hung in a class room whose minute hand is 14 cm long.  How much area is swept by the 

minute hand during the break time that starts at 10.05 am and ends at 10.35 am. (Use 
22

 
7

) 

3 

 20 14 cm 

13 cm  

A vessel is in the form of a hollow cylinder mounted on a hollow hemisphere.  The diameter 
of the hemisphere is 14 cm and the total height of the vessel is 13 cm.  Find the inner surface 
area of the vessel. 

3 

  / SECTION-D 

21  31 4   

Question numbers 21 to 31 carry four marks each. 

 

 21 78 AP : 24, 21, 18, ....  

How many terms of the AP : 24, 21, 18, .... must be taken so that the sum is 78 ? Explain the 
double answer. 

4 

 22 ` 240 4 

` 5 

 

4 
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Some students arranged a picnic.  The total budget for food was ` 240.  Because 4 students of the 
group failed to go, the cost of food to each student got increased by ` 5.  How many students went for 
the picnic? 

 23 AP 2.5 15 7  

The ratio of the 5th and 3rd terms of an AP is 2.5. Find the ratio of the 15th and 7th terms. 

4 

 24 

O PT PBA OL  AB 

PAPBPT2 

 
In the figure,  a tangent PT and a line segment PBA is drawn to a circle with centre O.  If OL  AB, 

prove that PAPBPT2. 

4 

 25 6 cm 4 cm

3

5
 

Construct a right angled triangle in which sides (other than the hypotenuse) is of length 6 cm 

and 4 cm.  Then, construct another triangle whose sides are 
3

5
 times the corresponding sides 

of the above triangle. 

4 

 26  20 m  

45  60 

From a point on the ground, the angles of elevation of the bottom and top of a water tank, kept at the 
top of 20 m high tower, are 45 and 60 respectively.  Find the height of the water tank.  Also, find the 
distance between the observation point on the ground and the base of the building. 

4 

 27 1 30 

 

(A)   

(B) 20  

(C)   

(D) 20   

Cards marked with the numbers 1 to 30 are placed in a box and mixed thoroughly.  One card 
is drawn from this box.  Find the probability that the number on the card is 
(A)  an even prime number. 
(B) a number greater than 20. 
(C) a number, which is a perfect square. 

4 
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(D) a prime number less than  20. 

 28 A(1, 2), B(2, 3), C(3, 2)  D(4, 3) ABCD 

AB  

If the points A(1, 2), B(2, 3), C(3, 2) and D(4, 3) form a parallelogram ABCD, find its area and 
height taking AB as base. 

4 

 29 440 m 14 cm  20 / m2 

 ` 2/m  

The inner circumference of a circular track is 440 m.  The track is 14 cm wide.  Find the cost of 
levelling it at 20 paise/sq m.  Also find the cost of putting up fencing along outer circle at ` 
2/metre. 

4 

 30 

20 cm15 cm10 cm 0.5 cm 2.1 cm 

9 cm ( 
22

7
 

 

A decorative pen stand made of wood is in the shape of a cuboid with four conical 
depressions and a cubical depression to hold pins and paper strips respectively.  The 
dimensions of the cuboid are 20 cm15 cm10 cm.  The radius of each conical depression is 
0.5 cm and depth 2.1 cm.  The edge of cubical depression is 9 cm.  Find the volume of wood 

used in making the entire pen stand. (Use  
22

7
) 

4 

 31 12 cm 6 cm  

22
 

7
 

 
A girl prepares a poster with the slogan “SAVE TREES” on a circular sheet of radius 6 cm which has 
been drawn at vertex of an equilateral triangle of side 12 cm as centre. Find the area of the shaded 

portion. What value is depicted by the girl ? (Use 
22

 
7

)  

4 
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